30.1.1 H7E kA TEEADOR v REER

AN A H LRI EES IS tHasEhRe N E)
JLRG HaFL 5 | gl Aol ] AL el Rl Al sl AE (5 [ (&)
fask| 45, 576] 109, 353] 53, 543] 55,810 13 18 -12 78 90 -6]  473] 479 0 110 110
HI—TH 666[ 1,431 701 730 1 1 0 0 0 -1 3 4 2 2 0
S =T B 543| 1,332 673 659 -1 1 1 1 0 1 4 3 -1 0 1
SLIL=TH 451 1, 046 510 536 -3 -2 -2 0 2 0 2 2 0 0 0
Sl Et] 1,6600 3,809 1,884 1,925 -3 0 -1 1 2 0 9 9 1 2 1
o an—T1H 474 1,015 479 536 —4 -8 -2 1 3 -5 0 5 -1 0 1
Heorn " TH 750 1,860 908 952 2 -2 -2 0 2 0 3 3 0 1 1
Mo R —TH 516 1,261 625 636 -1 —4 2 2 0 -2 1 3 —4 1 5
g AaMNT H 370 920 450 470 1 4 2 2 0 2 2 0 0 0 0
o] H 562l 1,271 623 648 4 -1 0 1 8 8 0 -3 0 3
g ST H 228 511 245 266 -1 0 0 0 1 3 2 -2 0 2
s ntTH 620 1,633 808 825 5 0 0 0 4 8 4 1 1 0
g\ TH 392 932 463 469 -1 -3 2 3 1 0 1 1 -5 0 5
I 590| 1, 456 717 739 1 7 2 2 0 5 6 1 0 0 0
g naEt] 4,492 10,859 5,318 5,541 5 2 3 10 7 13 32 190 -14 3 17
Hik R — 1 H 318 799 405 394 -1 -3 0 1 1 -3 3 6 0 0 0
I S = 928 2,053 1,022| 1,031 0 3 2 3 1 0 4 4 1 1 0
6 = 660[ 1,474 713 761 -3 -13 1 2 1 -9 0 9 -5 0 5
HE A A 1,906 4,326] 2,140] 2,186 —4]  -13 3 6 3 -12 7 19 —4 1 5
ek BR—TH 562 1,274 628 646 0 2 2 2 0 0 2 0 0 0
PSR T H 377 906 481 425 0 3 2 2 0 0 2 1 1 0
2 = 247 560 279 281 -2 -3 0 1 1 -3 2 0 0 0
£ S N 539 1,332 685 647 1 -1 0 0 0 0 3 -1 0 1
s N AErl 1725 4,072] 2,073 1,999 -1 1 4 5 1 -3 9 12 0 1 1
T 5757) 359 1,007 450 557 -2 -3 0 0 0 -3 2 5 0 0 0
HOEE ) — 1 H 152 384 185 199 0 4 0 0 0 -1 0 1 5 7 2
HOEER) T H 405 990 476 514 1 3 1 1 0 1 2 1 1 1 0
HOEE) =T H 658 1,694 817 877 -1 -2 -2 0 2 0 3 3 0 0 0
HOEESI Y T H 7071 1,800 873 927 -6 -7 -1 1 2l -10 6 16 4 4 0
HOEE) ] H 381 937 464 473 2 -1 -1 2 3 -1 1 1 1 0
HOEEH S T H 397 966 471 495 0 -2 0 2 1 1 1 1 0
HOEE I T H 638 1,464 706 758 -1 3 1 2 1 2 17 15 0 0 0
HOEEFD A 3,338 8,235] 3,992| 4,243 -5 0 —4 6 10 -8 30 38 12 14 2
PEEERI| 1,464 3,040 1,415 1,625 -1 -17 —4 1 5l -10 9 19 -3 2 5
FHIAR 330 722 364 358 0 —4 -1 0 1 -3 0 3 0 0 0
Ewtlﬂy% TH 444 981 477 504 -3 —4 -2 0 2 -3 3 6 1 1 0
wtlﬂy% TH 227 479 247 232 1 -1 0 1 1 0 1 1 -1 0 1
B =T H 47711 1,136 566 570 -2 -5 0 1 1 —6 3 9 1 1 0
J’SEEPQ%IEITH 5551 1,214 574 640 1 -1 -1 1 2 -1 5 6 1 3 2
m g T H 202 527 254 273 0 0 1 1 0 1 2 1 -2 0 2
TEED RS EE 1,905 4,337 2, 118] 2,219 -3 11 -2 4 6 -9 14 23 0 5 5
‘EE AT — T § 639 1,382 653 729 0 3 2 3 1 0 6 1 1 0
B AR — T H 610 1,314 614 700 0 2 -1 0 1 3 3 0 0 0
ﬁ%% ARTEE 1,249 2,696 1,267 1,429 0 5 1 3 2 3 12 9 1 1 0
IR 314 890 493 397 -2 -3 -2 0 2 -1 1 0 0 0
HHR—TH 698l 1,693 844 849 —4 -3 -1 1 2 0 8 -2 0 2
HR T H| 1,493 3,654] 1,800| 1,854 6]  -15 -2 1 3 -3 17 201  -10 2 12
HHR=TH 813 2,196 1,079 1,117 0 -8 -3 0 3 —7 1 8 2 3 1
HARIT H 463 1,124 540 584 0 3 0 1 1 1 4 3 2 5 3
HRAE 3,467 8,667 4,263 4,404 -10] -23 —6 3 9 -9 30 39 -8 10 18
JeHR—"T H 614 1,514 744 770 0 -5 0 1 1 -9 2 11 4 6 2
PR —TH 824/ 2,155 1,064 1,091 1 5 2 4 2 3 7 4 0 2 2
EHIR="TH 434 952 498 454 1 0 -1 0 1 -1 6 2 3 1
bR EsH 1,872 4,621 2,306] 2,315 2 0 1 5 4 —7 14 21 6 11 5
H BT 322 822 391 431 -2 0 3 3 0 -3 1 0 0 0
WEl 1,571 4,992 2,277 2,715 -2 -2 —4 0 4 0 7 2 4 2
P 768| 1,877 929 948 1 -3 0 1 1 8 -3 0 3
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HAE T A 698[ 1,863 956 907 -2 -2 1 1 0 —4 3 7 1 3 2
FYE =T H 627 1,592 791 801 2 3 1 3 2 -1 1 2 3 3 0
FAAIEM T H 874 2,192 1,079 1,113 -5|  -15 —4 0 4l -12 2 14 1 6 5
Y E T H 563 1,387 685 702 4 0 1 1 0 2 6 4 -3 0 3
FAIEST H 405 1,043 501 542 0 -1 0 0 0 -1 1 2 0 0 0
mEaEr 3,935 9,954 4,941 5,013 o] -18 -1 6 7l -16 21 37 -1 12 13
s 495[ 1, 140 562 578 3 7 -1 0 1 8 0 0 0 0
e —TH 320 684 331 353 -2 1 1 1 0 3 1 -3 0 3
e — T H 584f 1,368 665 703 —4 -5 -1 1 2 —4 0 1 1
RN 904f 2,052 996| 1,056 -6 —4 0 2 2 -1 -3 1 4
i — T H 300 673 337 336 37 40 1 1 0 36| 102 66 3 3 0
B T H 631 1,383 677 706 -1 0 -1 1 2 0 3 3 1 4 3
B =TH 377 985 502 483 1 -1 0 1 2 3 1 2 2 0
Bl aEt] 1,308 3,041 1,516 1,525 37 43 -1 2 3 38| 108 70 6 9 3
A E—TH 3831 1,043 498 545 —4 —4 -1 1 2 -3 4 7 0 1 1
HUE T H 430 1,101 535 566 -3 -9 0 0 0 -6 3 9 -3 2 5
s —TH 760 1,958 985 973 7 0 1 1 6 8 2 0 1 1
HHIEMT H 4521 1,063 510 553 0 -1 0 1 3 4 1 3 3 0
HHIE LT H 733 1,694 828 866 -1 -1 -2 1 3 0 4 4 1 1 0
HHIESNT H 227 490 249 241 0 1 1 1 0 -1 1 2 1 1 0
HESE 2,985 7,349] 3,605 3,744 -1 -2 -3 4 7 -1 24 25 2 9 7
<HX—TH 604f 1,452 712 740 12 -1 1 2 9 13 4 4 4 0
<HXL—TH 698[| 1,559 771 788 0 5 -1 1 2 6 14 8 0 0 0
<HX=TH 509 1,190 597 593 —4 —4 1 1 0 -3 1 4 -2 0 2
<HXWMTH 493l 1,110 550 560 -1 -1 -2 0 2 0 8 8 1 1 0
<HXHTH 380 821 463 358 —4 -6 0 1 1 -6 0 6 0 0 0
<HXEE] 2,684  6,132] 3,093 3,039 -5 6 -3 4 7 6 36 30 3 5 2
W EART—T H 772l 1,729 368 861 1 6 0 0 0 3 11 8 3 5 2
HEART T H 422 1,097 543 554 0 -1 -3 0 3 2 4 2 0 0 0
PIEARRT A 1,194 2.826] 1,411] 1,415 1 5 -3 0 3 5 15 10 3 5 2
L¥E 445 856 430 426 -1 -6 0 0 0 -7 2 9 1 1 0
ok — 1 H 968 1,603 703 900 -2 0 1 1 0 5 15 10 -6 1 7
kA 1 H 373 641 296 345 6 1 1 0 8 10 2 -1 0 1
ok A= 1 H 5971 1,657 774 883 -1 4 4 0 -2 3 5 0 5 5
ook AT H 357 792 383 409 7 11 0 1 1 10 11 1 1 1 0
ik & E 2,295 4,693] 2,156] 2,537 10 21 6 7 1 21 39 18 -6 7 13
FRIREET H 21 61 31 30 0 0 0 0 0 0 0 0 0 0
SRy 758 1,848 895 953 1 1 2 1 -1 8 9 1 2 1
GEA] 268 669 325 344 8 0 0 0 6 7 1 2 3 1
W ] — T 3951 1,067 544 523 -1 3 1 1 0 4 11 7 -2 0 2
] T H 320 765 386 379 1 1 1 1 0 0 1 1 0 0 0
R AT 715 1,832 930 902 0 4 2 2 0 4 12 8 -2 0 2
a1 H 600 1,344 681 663 6|  -12 0 1 iy -12 4 16 0 0 0
a1 H 483[| 1,217 579 638 1 2 1 1 0 -1 3 4 2 2 0
wEEAE A Er| 1,083 2,561 1,260] 1,301 -5 -10 1 2 1 -13 7 20 2 2 0
e 284 673 336 337 -2 -3 0 0 0 -3 2 0 0 0
IR 228 571 305 266 -2 -2 -1 0 1 0 2 -1 0 1




